Algebra II

Quiz 9.7-9.8 A

1. Find the equation of the hyperbola in the form 
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2. Given the equation of the hyperbola:     
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a)  Change the equation into the form 
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b)  Find the equations of the vertical and horizontal asymptotes. 

3. Find the equation of the hyperbola with vertical asymptote x = -1 and passing through points (1, 2) and (-3, -6).  Write the equation in the form 
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For each function:

a) Find the vertical asymptote(s) if they exist.

b) Describe the function’s end behavior using infinity notation.
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